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Question 1 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Which of the following statements about all living things are true?

A All living things need air, food and water

B All living things can make their own food

C All living things can respond to surrounding changes

D All living things can move from place to place on their own

v A) AandConly
B) AandD only

C) B, Cand.Donly
D) A,B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,116,903
Question 2 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Amanda classified the following things into two groups.
Living Things | Non-living Things |
fermn car
rose cockroach
orchid textbook
Which one of the following has been wrongly classified?
A) car
B) fern
C) orchid

(1
{€)
1)
(4)

A) 1
B) 2
v C) 3

D) 4

Question Type:
Randomize Answers: No

v' D) cockroach

Muiltiple Choice

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,116,907
Question 3

Primary 4 Science » Primary 4 Science (Term 2)

Which one of the following comectly states the similarity and diference
betweon a fern and a sunflower plant?

Similarity Difierence —

Both repraduce by The sunflower plant makes its own

SpOras. food but the fermn does not make its

_ own food.

Both reproduce by The sunfiower plant has a strong

seeds. stem but the fem doas nol have a
strong stem.

"Bolh grow on land. The su piant bears lowers |
but the fam does nat bear fowers

“Bofh make its own food. | The sunfiower plant has roots but
the fam does not have mots.

Question Type:
Randomize Answers: No

Multiple Choice

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,116,917
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Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Study the flowchart below. -

Animals

Does it live
\\ on land’y B

Yas

feelers?

Yas

Based on the flowchart above, which animal Is most fikely a chicken?

A) A

B) B

v C) C

D) D

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,116,949
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Question 5 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
Study the classification table below.
X Y
dog crocodile
rabhbit goldfish
tiger snake

Which one of the following correctly represents X and Y7

X Y
(1) have feathers have hair
(2) lay egas give birth to young alive
(3| have hair . have feathers
(4) | give birth to young alive lay eggs
A) 1
B) 2
c) 3
v' D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,116,953
Question 6 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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pari P?

v A) Aonly
B) Aand C only
C) BandConly
D) A,BandC

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 7

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Study the diagrarn of the plant shown beslow,

ClassMarker - Manage Test

Ay It holds the plant upright.
B It makes food for the plant.
c It anchors the plant to the ground.

Muiltiple Choice
No

Wed 7th Oct 2020
N/A

24,116,957

Anne The stem hold the plant upright
Bob The leaves have tiny holes to take in water
Chris The roots absorb the water and mineral salts for the plant

Which of the pupils have made the correct statements?

A) Anne and Bob only
v B) Anne and Chris only
C) Bob and Chris only

D) Chris and Devi only

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,116,972

Which of the following stalement{s) correctly state{s) the function{s) of

Primary 4 Science » Primary 4 Science (Term 2)

Three pupil made the following statements about the function of each plant part

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit
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Question 8

traa?

z
o o ®w >

Question Type:

Date Added:
Last Modified:
QID#:

Plants

Randomize Answers:

Study the flowchart balow.

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,116,978
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Primary 4 Science » Primary 4 Science (Term 2)

Bazed on the flowchart above, which plant is most likely 8 rambutan
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The diagram below shows the human digestive system,

Alwhichpart, A, B,CorDis water being absorbed from the

Question 9 Primary 4 Science » Primary 4 Science (Term 2)

Which one of the foliowing ormgans has been Drauipnd wrongly ?

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

undigested food?
A) A
B) B
C) C
v’ D D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,116,999
Qu estion 10 Primary 4 Science » Primary 4 Science (Term 2)
Study the char ek,
| Oigan sysiems |
~ r r
I Resplratory systam | Digestive system | Skelelal system
. small intesting iy
g slamach basckbane

2 pts
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A) skull

v B) eyes
C) nose

D) smallintestine

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,005
Question 11 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following activities make use of our muscular system?

A Kicking a ball

B Playing the violin

C Eating a hamburger

D Walking to the bus-stop

A) AandD only
B) B and C only

C) B, CandDonly

v D) A,B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,016
Question 12 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following organ systems work together to carry digested food to all parts of the body?

A Muscular system
B Digestive system
C Circulatory system
D Respiratory system

A) Aand Conly

¥v' B) Band Conly

C) A,BandD only
D) B, CandD only

Question Type: Multiple Choice
Randomize Answers: No
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Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,026

Question 13

represent the poles of the bar magnets.

W X - |

Primary 4 Science » Primary 4 Science (Term 2)

Jeremy arranged 5 bar magnets as shown below. W, X and

Which of the following arrangements are possible?

A B
Y X
i Y

C D
) Y Y
X ; w

A) AandBonly
B) B and C only
¥v' C) BandD only

D) CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,117,036

Question 14
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Primary 4 Science » Primary 4 Science (Term 2)
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Kimmy set up an expariment te lum an iron nail Into a temporary
magnet using the stroke method. She stroked the nail 10 fimes in the
sama direction using a magnet. She then placed 10 peper clips on the
tabile and chserved that the iron nail could attract 3 paper clips.

./*\;

e
iron nail v el

magnet

She wanted to repeat the experiment with snother identical iron nail

What could she do so that the iron nail could attract more clips in the
sacond pxperiment?

A) Stroke the nail with the magnet 5 times in one direction
B) Stroke the nail with the magnet 10 times in one direction
v C) Stroke the nail with the magnet 20 times in one direction

D) Stroke the nail with the magnet 20 times in both directions

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,073
Question 15 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
Sludy the chart below,
| Things
Give off light Do niot give off light
s sireet lamp « lightning
s florch + table
& 5UnN & THRMGr
& [TEION §  curiains

Based on the classification charl above, which of the following
things has baen classified wrongly?

A) sun and mirror
B) torch and moon
C) table and curtains

D) moon and lighting
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v

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,086
Question 16 Primary 4 Science » Primary 4 Science (Term 2)

4 boys saw some starts in the sky at night
Which of the following statements they made is correct?

v" A) We are able to see the stars because they give out their own light
B) We are able to see the stars because they reflect light from our eyes

C) We are able to see the stars because they reflect light from the clouds

D) We are able to see the stars because they take in light from the sun

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,139
Qu estion 17 Primary 4 Science » Primary 4 Science (Term 2)

Lucas then shone his toreh from the back of his model igloo o cast a
shadow on the acraan,

Which one of the following shows the shadow that Lucas could
possibly e, on the acrean?

m .
(3 '

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

A) 1
B) 2
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v

c) 3
D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Garaldine's
aye

A) Ceramic

B) clear plastic

Question 19

Gevaldine placed a
in the diagram below

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,117,145

A) The shadow disappeared
B) The shadow became bigger
¥' C) The shadow became smaller

D) The shadow remained the same

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,117,157

Sheet made of

matarial F

ClassMarker - Manage Test

Lucas then moved the torch further away from the model igloo

mug

She saw a biurred outline of the mug through the sheet,
Which one of the following materials could 2 ba?

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

Primary 4 Science » Primary 4 Science (Term 2)

Which one of the following would happen to the shadow that is formed on the screen?

Primary 4 Science » Primary 4 Science (Term 2)

sheat made of material Z in front of a mug as shown

2 pts

2 pts
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v’ C) frosted glass

D) aluminium sheet

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,168
Qu estion 20 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Q :
&
P, 0, R and 5 represent the posltions of the Sun al different tmes of tha
day.
Which ane of the following positiona of the Sun would cause the shadow
of the frae fo be ihe shorbest?
A) P
B) Q
v C) R
D) S
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,180
Question 21 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Study the diagram shown balow.

Q‘;ﬁ\ ceiling lamp
L

Rui Qi is standing under the ceiling lamp and she Id
when the cedling lamp is tumed on. Fou wee o

Which ore of the following statements comeclly explains the observation
E'IJ"\'E?

A) The plant reflects the light from Rui Qi into the ceiling lamp
B) Rui Qi reflects the light from the plant into the ceiling lamp
C) Rui Qi reflects the light from the ceiling lamp into the plant

v D) The plant reflects the light from the ceiling lamp into the Rui Qi's eyes

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,212

Question 22 Primary 4 Science » Primary 4 Science (Term 2)
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Ryan's moiher placed a cake in a cardboard booc

o™

/1N

the: cake?

A) The cake does not give out enough light
B) Light can pass through the cardboard box
v’ C) Light cannot pass through the cardboard box

D) The cardboard box reflects light into Ryan's eyes

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,117,230

Question 23

ClassMarker - Manage Test

lBmp

@ cardboard box
caks

Which one of the following statements explains why Ryan cannot ses

Primary 4 Science » Primary 4 Science (Term 2)

Study the classification table below carefully.

Gas Liguid Solid
carbon dioxide milk ball

oxXygen oll cookie

shadow water stone

Which one of the following is classified wrongly?

A) oil
B) milk
C) cookie

¥ D) shadow

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit
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Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,117,240

Question 24

Graca conducled an experiment as shown

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

below. She filed the syringe

..

mm'ﬁmmmfmmmm She pushed the
undil it cannot be pushed further. She then ohsarved by
substance Y was reduced to 35am?®. et the volume of
Before she plunges i
pushed the
punger | ]
e w— substance Y
pushed tha
plunger [

2Ome

A) Conly

¥v' B) Band Conly
C) A,BandConly
D) A, CandD only

it hag mass,

It oocupies space. |

It can be compressed.
M has a definite shapa.

Based only on the experiment above which
propemy/properties of substance ¥ can be conchided?

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Multiple Choice
No

Wed 7th Oct 2020
N/A

24,117,256

Question 25

af the following

Primary 4 Science » Primary 4 Science (Term 2)
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tha diagram below,

Samuel set up an expedment lo compare the masses of four objects,
A, B, C and D. Ha placed the objects on the lever balance as shown in

Which of the following Is the correct arangement?

Smallest mass— Biggest mass
i1 BACD
(2) B.C,AD
M DACB
L. DCAB

v A) 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,267

Question 26

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

He then arranged the objecta according to their masaes.
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The table below shows the characteristics of T
A tick () shows fhat the substance hnamcaaﬂl':mdarhﬂr'::?\‘ Rz

E—

Su
| Characteristic X H\Pm.

|_has a definite shape
has a definite volume
£an be compressed v

o N

Which one of the following statement is true?

A) Substance X is a gas
B) Substance Z is a liquid
C) Substance X and Z are both liquids

¥ D) Substance Y is a gas and substance Z is a solid

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,117,287

Question 27 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Rebeccs wants ko find the volums of 8 pebble and & md uweing a
measuring cylinder. She set up the egperdiment as shown bealow,

et

~

FIETLEINEL E I

A s ey

yolume of waber volume of water and | voleme of waker, pq-'ht'll:
piabia and md
Basad on the results from her experiment. what are the volumes of the
pebbie and the rod?
wilumne of peshible (em®) | wolume of mod [cm®)
(1) | 23 :
(£ 15 10
L] 15 25
{4} 25 15
A) 1
B) 2
c) 3
D) 4

Question Type:
Randomize Answers:

Multiple Choice
No

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,292
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Monica sel up an expermend as shown belw. She filled & cortainer with
watar ard pushed an Imered plastic cup inbo ihe waler in the containar,

plastc cup
S00m [ |
__—_— _— — —— wyElEr
— _l——\___ — b container
She than peked a hola at the lop of the plastic cup with a needie,

Which ane of the fnllowing shows the comect new waber laval in {he cup™

(¥} ' ,.,,TH, ) -
|
st ——f el [

— I =

(4

A) 1
v B) 2
C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,307
Qu estion 29 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it
was designed in such a way that it requires manual assistance.
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Mr Mg carried out an experiment as

i shown balow, He 3 .
containers, A, B and C, A layer of ol - ' Pl 3 similar plants into
any waker logs, rof A% poured into each contalner to prevent

Conltainer & Container B Containar ¢

Tha volume of water in each i
reconded in the tabls bel., Contairer was measured after a wesk and

b= Volume of water [rmi|
wter [mi)
A 200 375
l B 200 T80
.? 200 180 |

(8)  Based on the resulls in the
; : axpariment abowe, sialg .
living things. Wﬁammmmiﬂ

{h] BHE'EEI (50 5] 'hﬂ- Q-mmn!
Sl above, explain wh .
Cﬂﬂ“ﬁ&rﬂhﬂlﬂ‘mhﬂﬁﬂﬁ&l?m yhmtmmrﬁ;

S—

) ﬁ;m absoring waler and mineral salts. afate one ather funclion of
[1]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,331

Correctly answered feedback

) Living things need water to survive,
b) It takes in the most water because ithas the most leaves to make the

food for the plant,
¢] It holds the plant firmly to the groound.

Incorrectly answered feedback

) Living things need water to survive,
b) It takes in the most water because ithas the most leaves to make the

food for the plant.
¢] It holds the plant firmly to the ground.

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit
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Question 30

ClassMarker -

Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

chart below.

classification chart badow

Study the table below, -
Characteristics PlantA | PlantE | PlamC ar
Fias flon 4 e 1 Plant D
| Has big leaves v
Has a waak stem L ¥ v F

P |

(ai) :

(b)

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,373

Correctly answered feedback

(8) Based on fw table above, state a suilable heading for the classilication

]

(bl Hmdunpurhmdlrmln{l}.mmrfrphnul B, C and D o fha

2]

{a}®

v}

Please type "done" to proceed to the next question

Al ik P R
FEasli

Incorrectly answered feedback

ASpIA)
b

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit
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Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 31

muﬂammmuﬂmmmu{mmun.ﬂ.ﬂmn_ "

Characieristics Animal A | Animai B

- Animal C | Animal D
Brasihe - Yes Yes No | Yes
Haswings e Y8 N | No
[Has 3 body parts i o No Yas

(a) hhnnﬂmiﬁdmﬂmﬁnaﬂm

Baged on the characteris i
i cormol. tﬁﬂfmﬂnﬂmhﬂeﬁnm.mﬂnn:ﬁ

anémal A, slic.of animals that belong to the sama nmupm

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,396

Correctly answered feedback

.a) Animal A has 3 bady parts and only insects have 3 hody parts , thus it

15 an inseci.
h) They have 3 pair of legs.

Incorrectly answered feedback
.a) Animal A has 3 body parts and ounly insects have 3 body parts , thus it

15 an inseck.

h) They have 3 pair of egs.

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit 23/40
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Qu estion 32 Primary 4 Science » Primary 4 Science (Term 2)

Match the options below:

Clue Match

Goldfish B
Points: +0.5 =0

Monkey C
Points: +0.5 =0

Mosquito A
Points: +0.5 =0

Penguin D
Points: +0.5 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,406
Question 33 Primary 4 Science » Primary 4 Science (Term 2)

The diegram shows two plants, A and B,

(a8l Label chearly the stam of plant A in the diagram abowe, [1]

b} How are the stems of plants & and B similar? [1]

ch  Explain how the poles and the tree trunk helo plants A and B fi
surilight to make foad. o I-I-Iln[‘lj

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit
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Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,117,435

Correctly answered feedback

a)
i) Bumstarunfplautﬁanﬂﬂammlr.

c) It supports the stem of plant A and B so
leaves up and get sunlight to make food.

Incorrectly answered feedback

a)

b) Both stems of plant A and B are weak,
€} It supports the stem of plant A and B so
leaves up and get sunlight to make food.

Question 34

ClassMarker - Manage Test

that the stems can hold the

that the stems can hold the

Primary 4 Science » Primary 4 Science (Term 2)
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The dﬁmﬁmhehwrmmaentamanwanm =

(a}{l) Which one of the above organ syatems, A, B or C, work with the

MusCUlar system 1o enabée us to move? -
VA A
B) B
C) C
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,452
Question 35 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Identify the human organ system that you have chosen in (a)(i)

Accepted answers:
¥’ Skeletal system

v’ Skeletal

Question Type: Free Text

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,458

Question 36 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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En Jie ate 50 grams of fried chicken for lunch. The graph below shows the
amcunt of undigested food leaving the four different parts of En Jie's digestve

syslam,
1
o
E F ] H

Parts of the digestive system

Arnownt of
undigastad
foad (grarms)

¥ &5 8 8

[as)
=

(b} Basad on the graph above, which partis) of the digastive system, E, F,

G or H, doeside digestion lake placs? Explain your answer using the
data from the graph above, i . [2]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,468

Correctly answered feedback

b) Part E 1o F, the amount of undi
: tgested food dec
to G, the amsunt of undigested food decreased. R M RO L. o ¥

Incorrectly answered feedback

b) Part E 10 F, the amount of undi
: igested food dec
to G, the amount of undigested food decreased, | L - From F

Qu estion 37 Primary 4 Science » Primary 4 Science (Term 2)
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Mei Ling set up an experiment as shown below

retort stand

(a)  Explain why the paper ciip is able to “float” in the air ]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,507

Correctly answered feedback

a) It is made of a magnetic material whi
but the string is holding it back, TR IR .

Incorrectly answered feedback

aj It is made of 2 miagnetc material whi
it the ciriag fs holda o which can be attracted to a magnet

State a possible material of the paper clip

Accepted answers:

¥ Iron

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,545
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Qu estion 39 Primary 4 Science » Primary 4 Science (Term 2)

Ml Ling saw & Tloating” oy with bwo ring magnets which pass theough a
amooth plastic md as shaown balow,

| Plasiic rod

Fing magnats & em

{e)  State aproperty of magnetswhich is shown in the diagram above, - [1]

‘el Ling replaced magnet & with magned C. She observed that the distance
bobsesn magnets B s C bocame greatar,

Plastic md

Ring magnets B e

{di  Explan her observation, 1]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,628

Correctly answered feedback

¢] The like poles of the magnet repels.

d) Magnet C had a stronger ma
gnetic stre tha i
attracted over a longer distance, ngth 0 magned A o it iz

Incorrectly answered feedback

] The like poles of the magnet repels.

d) Magnet C had a stronger ma
gnetic stre tha i
attracted over g longer distanee, ngth 0 magnet & so i is

Question 40 Primary 4 Science » Primary 4 Science (Term 2)
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Calin B2 Up an experiment s shown i the diagram beiow,

NYBGI'HH.
woodan binck

torch hr
iy height of
\\ shadow
He moved the wooden biock m'g.rlmmlummimlmwﬂudm&mu!nﬂ'

the stradow formed in the fable balow,

-nhh-l'llﬂl- batwean the L
and the m"““ﬂ'ﬂm Height of the shadow [cm)

: 11
12
: 1 ]
(@)  Explain hew the shadaw of the wooden biook i% fonmed 1

(b)  Based on the table above, what would happen o the height of me

shadow whan Calin |
and the scrseny | 0 CIStENCE batwaen the woaden biock
1

way Colin can incroase and screen are fixed, suggest one
a5 shown abows, lmwﬂmhmuwﬂwmmmm

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,724

Correctly answered feedback

+1) The shadow of the wooden block is form
1 . ed when it blocks light fr
K it it
g ;rg;u_ ugh since light travels in a stralght line a shadow is casted on
b] The height of the shadow would increase when creasod
3
distance between the wooden anhandrhe:u&f“u " e
c) He eould move the torch doser to the winden block,

Incorrectly answered feedback

30/40
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the screen.

b} The height of the shadow would increase creasod
distance between the wooden Huhandth:mnmuu " -
c] He could move the torch closer o the wanden hr-:la:k.

The dassification chan baipve shows four different maierals, A, B, Cend D

o

Allows most light Allows soma light Does not allow any
o prams through i 1o pass through it Ht!hnl:lmﬂl
A, D B -

Mr Tan used each of these malpdais to buid four walls of the seme

used gnce,

Mr Tan's children stoad in the 4 cubicles and observed Be folowing -
i Faith &hd Xavier cowld nol e each olfuer

i} ¥amer and Jia Kal could 82 each othar ciaarty.

i) Saphia and Failh could see a blurry outline of each offer.

vl Sophie and Jia Kaj could seo sach other cleary.

BMMHWMMMMHMM%M
whll and write the letiers, A, B, C and [, in aach of the boxes below. Each ketier
can gnly be used onoe. [Z]

thickness to divide his playroom ifle 4 agual cubicles. Esch material was |

type "done" to proceed to the next question

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,756

https://www.classmarker.com/a/tests/test/?test_id=1541003&trk=edittest_inrow_edit

+i1} The shadow of the wooden block is form
; . ed when it blocks |
passing through since lght travels in a stralght line a ma:dmvri: Emﬂﬁ;m

Qu estion 41 Primary 4 Science » Primary 4 Science (Term 2)
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Question 42

Correctly answered feedback

[<]

¥

Incorrectly answered feedback

 ——
@:_
Tl :;‘ihn-
(2]
[=]
XK
‘ﬁ Faritn Ry
@:_
b “;::.th
-
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Whills card
[
Light b -
Light bty
Waaden
=] L
P lu'hlmrrw . it sorsor | Weoden
% % [ bax
Sebup A

Sal-up 4
Explsin the results otissrsed b,

ia)

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A

QID#: 24,117,798

Correctly answered feedback

a)The white card in set-up B reflect light into the light sensor , hence
the light sensors detects more light in set-up B,

Incorrectly answered feedback

a)The white card in set-upB reflect light into the light sensor , hence
the light sensors detects more I_ight in set-up B,

Primary 4 Science » Primary 4 Science (Term 2)

Question 43
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The diagram balow shows & man working along the road.

- yellow helmed
jackat with silver bands
roed b
A raffic cone
silver hands

(&) During the day, the man wears a yeiow helmet when he Is working
along the road, Explain how the car driver can see the yellow helmat
from a distance, [l

During the nighl. silver bands an the cones and the man's jacket ensure that
car drivers can see him better when he is working along the mad.

{c)  Explsin how having the silver bands help car drivers see the man and

\he traffic cones betler at night when the car headlights shine on them.
[]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,804

Correctly answered feedback
b} The yellow helmet would reflect light into the car driver’s eyes. .
) The silver band reflects more light into the car drivers’ eyes when the

headlight shine on them.

Incorrectly answered feedback
b} The yellow helmet would reflect Tight into the car driver’s eyes. .
¢) The silver band reflects more light into the car drivers’ eyes when the

headlight shine on them,
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Question 44
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Study the flowchart below, —~

Stan

o R

(8) Based on the flowchart above, state all the Properties of substance S
[1]

()  Based on the
e fivwehart above, stale the diference butwoen substsnce R

1]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,886

Correctly answered feedback
(}38a) Substance S has mass and has a definite shape.
b) Substance R has a definite volume but substance () does not have
definite volume.

Incorrectly answered feedback
(}38a) Substance 5 has mass and has a definite shape.
b) Substance R has a definite volume but substance () does not have
definite volume.
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State an example of P
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Accepted answers:

¥’ shadow

Question Type: Free Text

Study the classification chart below carefully. ==

Matter

Date Added: Wed 7th Oct 2020

Last Modified: N/A

QID#: 24,117,934
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Balid Liguid Gas

(@) Classify alf the following cbjects inlo the chart above.

T ol penci sand

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,960

Correctly answered feedback

o]

Solid Ligmid Gas
F'-:":I =i alr
Rand

Incorrectly answered feedback
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Question 47

container —
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Gas

Cheryl placed an iron block in 8 container as shown below

== Irtsn block

{B) {1} Identtfy the state of matter that the iron block is in.

Primary 4 Science » Primary 4 Science (Term 2)

Accepted answers:

v’ Solid

Question Type: Free Text

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,964

Question 48

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,968

Correctly answered feedback

Based on the observation above, explain your answer in (b)(i)
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the iron block is a solid so it has a definite shape and does not take the shape of the container
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Incorrectly answered feedback

Question 49

Question Type:
Date Added:
Last Modified:
QID#:

=im
Accepted answers:
v 100
v’ 100cm3
v’ 100 cm3
Question Type: Free Text
Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,973

Question 50

Based on the results above, state a property of the plasticine

Essay

Wed 7th Oct 2020
N/A

24,117,980

Correctly answered feedback
the plasticine has volume

Incorrectly answered feedback
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the iron block is a solid so it has a definite shape and does not take the shape of the container
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™
4 \ r
= 20cm*
200cm?
= 150cnr g
B 100cm? S T
— e watnr s — 100
—_— T Tjtow —_ —
_— = = 80w
—_— plaxticing = b

[

Primary 4 Science » Primary 4 Science (Term 2)

1 pt

0 pts

38/40


https://www.classmarker.com/a/tests/qb/manage/?test_id=1541003&question_id=24117968
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541003&question_id=24117968&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541003
https://0cm.classmarker.com/6226088_4B0OSIIH.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541003&question_id=24117973
https://www.classmarker.com/a/tests/qb/manage/?test_id=1541003&question_id=24117973&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1541003

8/6/2021 ClassMarker - Manage Test
the plasticine has volume

Question 51 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Cheryl then cut the ball of plasticine into 2 equal pleces and placed them back

into the =ame beaker of watar.
(b} (i) inthe diagram bedow, draw a line lo indicale the water lovel of the beaker
of water. [1]
e 00
e BE
e S0cm?
{ii) Explain your answer in (i), [1]

Question Type: Essay

Date Added: Wed 7th Oct 2020
Last Modified: N/A
QID#: 24,117,991

Correctly answered feedback

i)

ii] Although cut in half, the plasticine still has the same amount of volome
so the water level will be the same.

Incorrectly answered feedback

bi)

ii] Although cut in half, the plasticine still has the same amount of volome
so the water level will be the same.
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